Sr

10

1"

12

13

14

15

Questions

e 0 S gl e

G S b A s s s s

Al S a5

LELS il g (e (e 8 iy o o S Clad i) 5

QIS s el g S il s S o

AB1S Clay a5

S Sl (e g S 5 S5 e (ol B il 50 (S Gl pad (5 S (S ety

e (S iy B S

s drala gl S S o S iy g S S

o bR e S A S s

di«)guiuCES}Y)@S@\Sﬁg)ﬁ

D S e ety

SIS Jsan S S5 i S o sh o (S 235 alys

S8 (550 o i e Jlariad mans S sty

Ispany S G o8 TS S Slay (a5 0y 05l Gl

Answers Choice

> DOTP DOmr DOBP DOUP UOWr DOWr DOWr UO®P U0Wr U0UP 0D0Wr 00WE

3 15 S S Jsemn S 5
oo 3 S dsas S S
= s G sl S

= e Ose S ) s
oS i S
=SS (S e (S dliaee S

= Sosaa S s o

= s S ylad
= ey s
=y s e
= Glaa L:‘J“’"

1789
1890
1790
1889

&5 som

WS e

& @l 7 i ik
L e

WSS pl S o b i)
LS’\GSJ);‘euéLJQ“'&_‘)“
WSS, b S 2 o )
WS L pli S o b Sk

1896
1900
1850
1750

=S (S dals Gl s S8 plas
2 Sda (S duala & I e
o Sada Sy e S5 S e iy
2 Sada (S g e S5 S cle S

1000
6000
5000
500

1000°C
2000°C
1132°C
500°C

3818°C
1500°C
2200°C
1000°C

o e Uy S L8 (S e gy
= L S5 S (S e S e
o Bl U S5 58 (S ISl
= U Uy S5 (8 (S SheslS s

LS Jlexind (e 58 5 s Gl yol

— [NWEN

B.
C.
D.

1Om» Dom>

ks LS Jlanind ol
o s LS Jlanind 22y S (Ko 380
BSda LS (s Jlamiad

o A g

= i a2 (S sl
=S S s
=S S ke

1950
1900
1955



D. 1970



